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Rules for Resonance V1oV

1. Individual resonance forms are imaginary, not real at all. 1l eiW@( of
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2. Resonance forms differ only in the placement of their 77 bond or non-bonding electrons
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The red curved arrow indicates that a lone

pair of electrons moves from the top oxygen The new resonance form
atom to become part of a C=0 bond. has a double bond here...
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Simultaneously, two electrons from the and has a lone pair
C=0 bond move onto the bottom of electrons here.

oxygen atom to become a lone pair.

Curvedt Qrows indicae we
wovement of  elecavond

22016 Cengage Learning



3. Different resonance forms of a structure don't have to be equivalent

This resonance form has the This resonance form has the
negative charge on carbon. negative charge on oxygen.
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4. Resonance forms obey normal rules of valency

aw ¥ )
guer ywe e\ appies -

H O H .0: 10 Cl€GwNns
\ Y \ /6N tnis Cawvoun
N 47K
H H 03 H H’ 0 * d\
2 not Vol
Acetate ion Not a valid T ENOVAE Y\\(\O(/\ Wed
oy resonance form  \De oWy Cov
Ny ¢ o s S vonds
¢ —C > B —C
“ z C\o‘. 4C'—:'_ \ .
H % 5 i QG‘D
“Tvue yvesomonce shuctwe % g
5. The resonance hybrid is more stable than any individual resonance form
The | 0‘-'(0‘1@( the number of resonance forms, the more  Staole, a

structure because the electrons are spread out on the molecule.



/ Drawing Resonance Forms

Three-atom groupings
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Which of these are pairings of resonance structures? Why or why not?
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Drawing Resonance Forms
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